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P9. Case analysis. (20 points) (#£20%3)

=. Multiple choices. (20 points, 2 points each) (&
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—. True or False. (10 points, 1 point each) (814, #10%)

1. [T1 [F] 6. [T1 [F]

2. [T1 [F] 7. [T1 [F1

3. [T1 [F] 8. [T1 [F]

4. [T1 [F] 9. [T1 [F1

5. [T1 [FI 10. [T1 [F]

—. Multiple choice. (20 points, 1 point each) (8814, $£20%)

1. [A]1 [B]1 [C] [D] 6. [A][BI[C][Dl 11.[Al [B] [C] [D] 16. [A]l [B] [C] [DI

2. [A] [B] [C] [DI 7. [Al [B] [CI [DI 12.[A] [B] [C] [DI 17. [A]l [BI [C] [D]

3. [A]1 [B] [C] [D] 8. [Al[BI[CI[D] 13.[A] [B][C] DI 18. [A] [B] [C] [D]

4. [A] [B]1 [C] [D] 9. [Al [B] [C] [D] 14. [Al [BI [C] [D] 19. [A]l [B] [C] [DI

5. [A] [B] [C] [DI 10.[A] [B] [C] [D] 15.[A] [BI [CI [DI 20. [A] [BI [CI [DI
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F. Short Essay Writing. (30 points) (Less than 200 words) (£30%)
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